MAC 1105, Fall 2017.

Exam #1

October 3, 2017

Name J(QZU\
N

e You will be told when to begin the work and when to terminate work on the ex-
amination. You must stop when instructed. Points may be deducted in case of
violations.

e Please show your work to support your answers that require calculations. Correct
but unsupported answers may not be given full credit.

e The use of a cell phone or other electronic communication devices during the exami-
nation is not allowed. The exam will be canceled and a grade of “0” will be assigned
to anyone who uses a cell phone during the examination or if one is found within
hands reach.

e (Calculators are not allowed on this exam.

e The exam consists of two parts. Part I contains four multiple choice questions worth
5 points each. Part IT contains 8 open ended questions.
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Part I

Choose your answer from five available choices. No partial credit will be given for wrong answers.

e V1227
1. Simplify 62
) @ [ J3 Sk 23 x_ 3
(a) - - =t 2 -3
: 6 6 x* o ”
®3
Jx
© %
(@) V3

(e) None of the above

2. Divide the following complex numbers and express the result in standard form, a + bi.
2% -3 2-i_ WU-Ley
A I L i o B A

241 2-( G —i (X
(a) 1 _ Wi =2(1)— 630 _ e 42-6tX
' DT T L

(b) =5+ % -4 4. 2
(¢) —d+7Ti = = =z 3

(e) None of the above

3. Find the solution set for the equation

(x—=1)*=-9

(@D {1 +3i.1 - 3i} x-1= £
(b) {3i+1.3i -1} +(Jg =503

(©) {1+3i) e
c) {1+3
. . -/ = £ é/
(d) The solution set is empty.
- [ £
(e) None of the above xX= [ _;/
2
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4. Determine the number and type of solutions for the following equation

2 -324+5=0

Aiscriming nt: -
(B e 15 =TT e

(a) One real solutions.
(b) Two real solution.
@ Two complex solutions.
(d) Three radical solutions.

(e) None of the above.

Part 11
5. (10 points) Consider the points (1,6) and (4,2). Draw a squid or octopus that has

(a) The number of arms the same as the distance between the points.

(b) The number of eyes the same as the y-coordinate of the midpoint.

@ Aisfance = JO~o%x(c-2* =V 9tle = 25@
Oo) mfa[fm'm[: %}l %L):(% ‘f)

(j - (an{{vxq 7/( =
O
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6. (10 points each) Solve for 2 and include any complex solutions.

(a) V22 —142==2 -
_2 ~T L_X/—g

Joxr =t A Jzo-1 t2=5
C\{Zx—()icxf?b \ICT—(—Z:—_%_

Je—( = '7(2’ L‘.X’ﬁ‘(ﬁ

(TQ.S‘L{

~2Rl ~2x ] 3{_2’7%%
s G G _
0 =% 6><< ) <=
O=(x-5)(x SFTc2=
!Xag) IK:{, JT 2=
S =
False
=5

(b) 222 —az =1
Lrxt-x —[=O

N v R S N A R Ed
e ~COED f%ZCO;/—/ -

Lf.

—

22
| £ £ 2
”TE<:;@

%’@

7. (5 points) Let f(zx) =2+ 3y/T—x and h(z) = 2%
(a) Find £(1)

£((y= 23 =2¢30 2]
(b) Find h(6)
—_ ,_Z/é “/,——[—2—‘—';
h(()) B -3 2

4
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8. (10 points) Consider the following function.

(a) Find the domain and range of the graph of the function.
D O : f - %t él
(Z ahﬂﬂ ! E’Z— ( Cf‘l

(b) Find f(2) and f(—4).
2], e
9. (15 points) Consider the line 6z — 3y +4 = 0 and
(a) Find the slope of the given line.
6x3Y)
~6%

+=0 0
~¢ —6r-F
== € i —'—‘:E( t =
Y~=K" -2 IO
(b) Find the equation of the line that is perpendicular to the given line and passes though the

point (4,1). Find the y-intercept of this line.

- (j(_[ :,_:E(/(x’_ %>

m= 7

cljﬁimlezrce/mé is (O, 3)

[S3]
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10. (10 points) Consider the circle given by

2?4y —da — 12y —9=0

Draw an alien that has:
(a) The number of hands the same as the circle’s radius.

(b) The number of legs the same as circle’s center y-coordinate.

;)2“ et o (2= qe D (6)"
(e (408 = e 36
(X’OL +(§j~6)12 G —> Cewnter. (2 é>
(@) radies =< 2] X
(1) o-coorclinste: €]
(C> K~ COOVJZ(M(LM@

11. (5 points) Simplify
VA0 +3V10

Jeo t5Jo= )4 Jioe 2o = 2o

T
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12. (10 points) Simplify >< + I )< + !

x§2+l — z/_,:ﬁ/
St 3 3
SO ! mfl
e _REX-L
— ~T = ’_&,Z/—v
> (x2) (x+D) 3 (D (x€0)
(<q2)  (x2)(xt2) e (<L)
S
vy R C{ﬂfi‘>
I o S Sot &
A =7 S
(KD
. Z(‘X’%2>
('ZX '—Lv (K’t’i) _ W — x,&_ \

= o (e
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